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34 - DY UTe vt -3, 4, 4, T aen § # vl fsar wran 1 @ve-a1 (e Iemdia ye) A v g e
s 2, o o v &1 2 el e v et &1 wvgha, w0, 2 9o 3 (kg Iea e ) sRB H Y we
TS WUE W v N Dot e IR anfdia &1This paper is divided into five Sections-A, B, C, D & E.
Section-A (Short Answer Questions) contains one question of ten parts requiring short answer. All these
ten parts are compulsory. Sections-B, C, D & E (Descriptive Answer Questions) each contains two
questions. Attempt one question from each Section. Answer must be descriptive.
Gus-J (Section-A)
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This Section one question of ten part requiring short answers. Each part carries 1.4/3 marks.
ﬁﬁ%w;ﬂwm 0 R g ‘o’ 3t e 7 el @1 aren s s
Find the slope of the tangent to the conic1 =1+ ecos 0 at the point ‘e’ on it.
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R P (23,6 wRga @ 45 B! e A Xaravs @ Ra S w19 S

Find the direction cosines of the line segment joining the points P (2, 3, -6) and Q (3, -4, 5).

#mmzx~}'+32—4=0,6x_—'3y4-924-13=0$@Iﬂ3§'§&5‘1‘rﬁﬁﬁvl '
Find the distance between the parallel planes 2x — y + 3z -4 =0 and 6x -3y +9z + 13=0.

L i) X—=2 “ =
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Find the point in which the line X=2 - ¥ +1_2 -2 . = i
| i 3 i meets the plane x -2y + z =20.

:ﬂﬁéﬁrmmaﬁ%ﬂa’rqﬁﬁ +y +2°=92x +3y +4z =5 Rig (1,2, 3) ¥ BN ERar 2
Find the equation of the sphere through the circle x2 + Y2 +2%2=92x +3y + 4z =5 and the point

(12.3)
3 ¥IH BT FHIGIUT Fa Difse e o (0, 0, 0) & ot TT X% +y?+22 $4x -2y + 3z =0;
X-y+z=39 LSRG 2l Find the equation of the cone with vertex at (0, 0, 0) and passes through the

circle givenby x? + y? +z? +4x -2y + 32 =9 x -y +2z =3, . = :
39 S BT FHIGRT 57T IS 3 X 2187 & THFTR 8 05 ab ax? + by? +cz® =1ed Ix +my +nz =p
@I @Il &1Find the equation of the cylinder with generators parallel to X-axis and intersects the curve

ax? + by* +cz? =fndix + my +nz =p.

(vili) af& 7 =sinti +cost j + tk, o Rig Mfow &5 : IfFF =sint i + cost ] + tk , then prove that :

+ (ix)
(x)

ar d*r
| = =’ﬁ'F =1. |
aief (x,y,z)=x> -y* + xz2, @ fag (1, -1, 2) W Vf (grad f) B 7H §1d Sifore|
Iff (x,y,z)=x> - y® + xz?*, Find Vf at the point (1, —1, 2).
afe f =x? yi —2xzj + 2vzk, A curl f &1 7H A Bifore|
iff =x? yi -2xzj + 2yzk, then find the value of curl f. | |
WUs-d, |, € Ud § (Section-B, C, D & E)
e @ug & 2 7o &1 TS @Us X U YR Bl Feid We 5/10 31 &7 &1 forq e anfar &1 Each

Section contains two questions. Attempt one question from each Section.Each question carries 5/10

marks. Answer must be descriptive.
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X-
3p 5 SL 4 i 121 A plane meet the coordinate axis in A, B, C such thatthe centroud of triang

e sl

z
the point (p,q, r). Show that the eéquation of a plane Is — + Sq =

: 3@t
mx—i?.:y—s Al x+1_y+1_ z+13‘?5t€la?rﬂfiﬂq o1 BTl =g 1 T
% -5 _2-1.
& =19 SfSEl Find the length of the shortest distance between the lines —— o 3 =L o =

x +1 L R e '
: =-V_6 = _+1 _Find also its equations.

wos-4 (Secti on-C)
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The plane — =y %+ Z -1 meets the coordinate axis in A, B, C. Prove that the equation to the cone
c

generated by the lines drawn from origin Oto meet the circle ABC, is : ;

(b c] (a c (a b
yz |—+ | 2x|{ =+ |+ XY Z4+=|=0
: @b ¢ @ b a
3l
I ERS] Eﬂ?r ﬁﬁiﬂ! SR Th?r Obtain the condition that the spheres
a(x2+y? +2%)+2x +2my ¥z H P = —0and Wb (x*+Y¥ +z) =k? mairrﬁe?rﬁa‘c‘f%l may cut -

orthogonally
'@33 £} (Sectlon-D)

ﬂﬁﬁaﬁaﬁma%%magrmw 3‘—"'—1——”512 & 7qs611x -5y* w22 _oﬁm%‘l

1 <42 2= .
Find the points in whlch the line : -’(—11— g 5 T cuts the surface 11x 2_gy? +z 2 -0.

K| :
R‘rﬁ g g e &1 w9 S iy : Evaluate by Stokes' theorem : d(yzdx + xzdy + xydz), T
| J .

where C Ud db is the curve x* +y?=1z =yt

wus-3 (Section-E) _ :
jF dF, B & DI, ETE-’IF =x*y*i +yfﬂ'«"C.xv-Wﬁﬁ%to.omm.-»-namaasyz ~ax

Evaluate IF dF, where F is x* y2i+ y} and C is y* =4x in the xy-plane from (0, 0) to (4,4).

Jdl
_ , _
iz Do &5 V. ( ] =0 3191&1 div (grad ) = 0‘%1 Prove that V. .(V F) =0 or div (grad %) =0.
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